EXISTENCE OF NONOSCILLATORY SOLUTIONS OF SECOND ORDER LINEAR NEUTRAL DELAY DIFFERENCE EQUATIONS WITH FORCING TERM

S.Lourdu Marian¹, M.Paul Loganathan², A.George Maria Selvam³

 ¹ Department of Master of Computer Applications, Saveetha Engineering College, Thandalam, Chennai - 105.
 ² Dravidian University, Kuppam, India.
 ³ Department of Mathematics, Sacred Heart College, Tirupattur - 635 601, Vellore Dist, S.India.

Abstract. This paper is concerned with the nonoscillation of second order linear neutral delay difference equations with forcing term. By using Banach's contraction mapping principle, authors obtain some sufficient conditions for the existence of nonoscillatory solutions. To support the results, we use MATLAB programming to illustrate the examples.

2000 Mathematics Subject Classification. 39A10, 39A11. Key words and phrases. difference equations, forced, neutral, oscillation, nonoscillation, linear, second order.

1. INTRODUCTION

In this paper, we consider the second order neutral delay difference equation with forcing term of the form

$$\Delta (r(n)\Delta [x(n) + p(n)x(n-\tau)]) + q_1(n)x(n-\sigma_1) - q_2(n)x(n-\sigma_2) = e(n) , \quad (1)$$

where $n \ge n_0$, $\tau > 0$, $\sigma_1, \sigma_2 \ge 0$ are integers. We assume the following conditions:

(A1) $q_i > 0$ and $\sum_{s=n_0}^{\infty} sq_i(n) < \infty, i = 1, 2$

(A2) There exists a function $E(n) \in C^2([n_0,\infty), R)$ such that $\Delta^2(E(n)) = e(n)$ and

 $\lim_{n\to\infty} E(n) = M \in \mathbb{R}.$

The nonoscillatory behavior of linear and nonlinear neutral delay difference and differential equations with positive and negative coefficients have been investigated by several authors, see, for example [3], [4], [5], [6], [7], [8] and [9], the references cited therein. We refer monographs [1] and [2] for good amount of discussion concerning the existence of solution of delay difference equations. Our aim in this paper is to establish the nonoscillation criteria for the second order linear neutral delay difference equation (1) for various ranges of p(n)

As is customary, a solution of equation (1) is said to be nonoscillatory if it is eventually positive or eventually negative. Otherwise, it will be called oscillatory. We define $\rho = \max{\{\tau, \sigma_1, \sigma_2\}}$

Theorem1.1. (Banach's Contraction Principle [2]). Let (X, d) be a complete metric space and let T be a contraction mapping on X. Then T has exactly one fixed point on X, that is, there exists exactly one $x \in X$ such that Tx = x

2. Main Results

Theorem 2.2. Suppose that conditions (A_1) and (A_2) hold and that there exists a constant p_1 such that

$$0 < p(n) \le p_1 < 1. \tag{2}$$

Then equation (1) has a nonoscillatory solution.

Proof. Suppose (2) holds. Choose constants $N_1 \ge M_1 > 0$ and choose $n_1 > n_0 + \rho$, sufficiently large such that

.

$$\sum_{s=n_1}^{\infty} s \left[q_1(s) + q_2(s) \right] < \frac{3(1-p_1)}{4}, \tag{3}$$

$$\sum_{s=n_{1}}^{\infty} s \, q_{1}(s) \leq \frac{p_{1} + N_{1} - 1}{N_{1}}, \tag{4}$$

$$\sum_{s=n_1}^{\infty} s \, q_2(s) \le \frac{1 - p_1(1 + 2N_1) - 2M_1}{2N_1} \text{ and}$$
(5)

$$\left|E(n) - M\right| \le \frac{1 - p_1}{4}.\tag{6}$$

Let X be the set of all continuous and bounded functions on $[n_0,\infty)$ with the sup norm. Define

$$A_{1} = \left\{ x \in X : M_{1} \le x(n) \le N_{1}, n \ge n_{0} \right\}$$

Define a mapping $T_1: A_1 \to X$ as follows:

$$(T_{1}x)(n) = \begin{cases} \frac{3(1-p_{1})}{4} - p(n)x(n-\tau) \\ +(n-1)\sum_{s=n}^{\infty}[q_{1}(s)x(s-\sigma_{1}) - q_{2}(s)x(s-\sigma_{2})] \\ +\sum_{s=n_{1}}^{n-1}s[q_{1}(s)x(s-\sigma_{1}) - q_{2}(s)x(s-\sigma_{2})] + E(n) - M, n \ge n_{1} \\ (T_{1}x)(n_{1}), n_{0} \le n \le n_{1}. \end{cases}$$

Clearly, $T_1 x$ is continuous. For every $x \in A_1$ and $n \ge n_1$ using (4) and (6), we obtain

$$(T_1x)(n) \leq 1 - p_1 + N_1 \sum_{s=n_1}^{\infty} sq_1(s) \leq N_1.$$

Furthermore, in view of (5) and (6), we have

$$(T_1x)(n) \ge \frac{1-p_1}{2} - p_1N_1 - N_1\sum_{s=n_1}^{\infty} sq_2(s) \ge M_1.$$

Thus we proved that $T_1A_1 \subset A_1$. Since A_1 is a bounded, closed and convex subset of X, we have to prove that T_1 is a contraction mapping on A_1 to apply the contraction principle.

Now, for $x_1, x_2 \in A_1$ and $n \ge n_1$, in view of (3), we have

$$|(T_1x_1)(n) - (T_1x_2)(n)| \le ||x_1 - x_2|| \left\{ p_1 + \sum_{s=n_1}^{\infty} s \left[q_1(s) + q_2(s) \right] \right\}$$

$$< \frac{3 + p_1}{4} ||x_1 - x_2||$$

$$= \lambda_1 ||x_1 - x_2||.$$

This implies that $||T_1x_1 - T_1x_2|| < \lambda_1 ||x_1 - x_2||$, $\lambda_1 < 1$. This proves that T_1 is a contraction mapping on A_1 . T_1 has the unique fixed point x, which is obviously a positive solution equation (1). This completes the proof.

Theorem 2.2. Suppose that conditions
$$(A_1)$$
 and (A_2) hold and that there exists a constant p_2 such that
 $-1 < -p_2 \le p(n) < 0.$ (7)

Then equation (1) has a nonoscillatory solution.

Proof. Suppose (7) holds. Choose constants $N_2 \ge M_2 > 0$ and choose $n_1 > n_0 + \rho$, sufficiently large such that

$$\sum_{s=n_1}^{\infty} s \left[q_1(s) + q_2(s) \right] < \frac{3(1-p_2)}{4}, \tag{8}$$

$$\sum_{s=n_1}^{\infty} s q_1(s) \le \frac{(1-p_2)(N_2-1)}{N_2},$$
(9)

$$\sum_{s=n_1}^{\infty} s \, q_2(s) \le \frac{(1-p_2) - 2M_2}{N_2} \text{ and} \tag{10}$$

$$|E(n) - M| \le \frac{1 - p_2}{4}.$$
 (11)

Let X be the set as in theorem 1. Define

$$A_2 = \{x \in X : M_2 \le x(n) \le N_2, n \ge n_0\}.$$

Define a mapping $T_2: A_2 \rightarrow X$ as follows:

$$(T_{2}x)(n) = \begin{cases} \frac{3(1-p_{2})}{4} - p(n)x(n-\tau) \\ +(n-1)\sum_{s=n}^{\infty} [q_{1}(s)x(s-\sigma_{1}) - q_{2}(s)x(s-\sigma_{2})] \\ +\sum_{s=n_{1}}^{n-1} s[q_{1}(s)x(s-\sigma_{1}) - q_{2}(s)x(s-\sigma_{2})] + E(n) - M, \ n \ge n_{1} \\ (T_{2}x)(n_{1}), \ n_{0} \le n \le n_{1}. \end{cases}$$

Clearly, $T_2 x$ is continuous. For every $x \in A_2$ and $n \ge n_1$ using (9) and (11), we obtain

$$(T_2x)(n) \le 1 - p_2 + p_2N_2 + N_2\sum_{s=n_1}^{\infty} sq_1(s)$$

 $\le N_2, n \ge n_1.$

Furthermore, in view of (10) and (11), we have

$$(T_2 x)(n) \ge \frac{1-p_2}{2} - N_2 \sum_{s=n_1}^{\infty} sq_2(s)$$

 $\ge M_2, n \ge n_1.$

Thus we proved that $T_2A_2 \subset A_2$. Since A_2 is a bounded, closed and convex subset of X, we have to prove that T_2 is a contraction mapping on A_2 to apply the contraction principle.

Now, for $x_1, x_2 \in A_2$ and $n \ge n_1$, in view of (8), we have

$$|(T_2x_1)(n) - (T_2x_2)(n)| \le p_2 ||x_1 - x_2|| + ||x_1 - x_2|| \sum_{s=n_1}^{\infty} s [q_1(s) + q_2(s)]$$

$$< \frac{p_2 + 3}{4} ||x_1 - x_2||$$

$$= \lambda_2 ||x_1 - x_2||.$$

This implies that $||T_2x_1 - T_2x_2|| < \lambda_2 ||x_1 - x_2||$, $\lambda_2 < 1$. This proves that T_2 is a contraction mapping on A_2 . Consequently T_2 has the unique fixed point x, which is obviously a positive solution of equation (1). This completes the proof.

Theorem 2.3. Suppose that conditions (A1) and (A2) hold and that there exist constants p_1 and p_2 such that

$$1 < p_2 \le p(n) < p_1 < +\infty \tag{12}$$

Then equation (1) has a non oscillatory solution.

Proof. Suppose that (12) holds. Choose constants $N_3 \ge M_3 > 0$ and choose $n_1 > n_0 + \rho$ sufficiently large such that

$$\sum_{s=n_1}^{\infty} s[q_1(s) + q_2(s)] < \frac{3(p_2 - 1)}{4},$$
(13)

$$\sum_{s=n_1}^{\infty} sq_1(s) \le \frac{1 - p_2(1 - N_3)}{N_3},\tag{14}$$

$$\sum_{s=n_1}^{\infty} sq_2(s) \le \frac{p_2(p_2-1) - 2p_1(N_3 + p_2M_3)}{2p_1N_3} \quad and \tag{15}$$

$$|E(n) - M| \le \frac{p_2 - 1}{4}.$$
 (16)

Let X be the set as in Theorem 1. Define

$$A_3 = \left\{ x \in X : M_3 \le x(n) \le N_3, n \ge n_0 \right\}.$$

Define a mapping $T_3: A_3 \to X$ as follows:

$$(T_{3}x)(n) = \begin{cases} \frac{3(p_{2}-1)}{4p(n+\tau)} - \frac{x(n+\tau)}{p(n+\tau)} \\ + \frac{n-1+\tau}{p(n+\tau)} \sum_{s=n+\tau}^{\infty} [q_{1}(s)x(s-\sigma_{1}) - q_{2}(s)x(s-\sigma_{2})] \\ + \frac{1}{p(n+\tau)} \sum_{s=n_{1}}^{n+\tau-1} s[q_{1}(s)x(s-\sigma_{1}) - q_{2}(s)x(s-\sigma_{2})] + \frac{E(n+\tau) - M}{p(n+\tau)}, \ n \ge n_{1} \\ (T_{3}x)(n_{1}), \ n_{0} \le n \le n_{1} \end{cases}$$

Clearly, $T_3 x$ is continuous. For every $x \in A_3$ and $n \ge n_1$ using (14) and (16), we get

$$(T_3 x)(n) \le 1 - \frac{1}{p_2} + \frac{N_3}{p_2} \sum_{s=n_1}^{\infty} sq_1(s)$$

 $\le N_3, \quad n \ge n_1.$

Furthermore in view of (15) and (16), we have

$$(T_3 x)(n) \ge \frac{p_2 - 1}{2p_1} - \frac{N_3}{p_2} - \frac{N_3}{p_2} \sum_{s=n_1}^{\infty} sq_2(s)$$
$$\ge M_3, \quad n \ge n_1$$

1103 | Page

Thus we proved that $T_3A_3 \subset A_3$. Since A_3 is a bounded, closed and convex subset of X we have to prove that T_3 is a contraction mapping on A_3 to apply the contraction principle.

Now, for $x_1, x_2 \in A_3$ and $n \ge n_1$, where in view of (13), we obtain

$$|(T_3x_1)(n) - (T_3x_2)(n)| \le \frac{1}{p_2} || x_1 - x_2 || \left\{ 1 + \sum_{s=n_1}^{\infty} s[q_1(s) + q_2(s)] \right\}$$

$$< \frac{3p_2 + 1}{4p_2} || x_1 - x_2 ||$$

$$= \lambda_3 || x_1 - x_2 ||.$$

This implies that $||T_3x_1 - T_3x_2|| < \lambda_3 ||x_1 - x_2||$, we have $\lambda_3 < 1$. This proves that T_3 is

contraction mapping on A_3 . Consequently T_3 has the unique fixed point $x \in X$, which is

obviously a positive solution of equation (1). This completes the proof.

Theorem 2.4. Suppose that the conditions (A1) and (A2) hold and that there exist constants p_1 and p_2 such that

$$-\infty < -p_2 < p(n) \le -p_1 < -1. \tag{17}$$

Then equation (1) has a nonoscillatory solution.

Proof. Suppose (17) holds, Choose constants $N_4 \ge M_4 > 0$ and choose $n_1 > n_0 + \rho$, sufficiently large such that

$$\sum_{s=n_{1}}^{\infty} s[q_{1}(s) + q_{2}(s)] < \frac{3(p_{1}-1)}{4},$$
(18)
$$\sum_{s=n_{1}}^{\infty} sq_{1}(s) \le \frac{p_{2} - p_{1}(1 + M_{4})(p_{2}-1)}{p_{2}N_{4}},$$
(19)
$$\sum_{s=n_{1}}^{\infty} sq_{1}(s) \le \frac{N_{4}(p_{1}-1) - p_{1}}{p_{2}N_{4}}$$
(20)

$$\sum_{s=n_1} sq_2(s) \le \frac{1}{N_4} \quad and \tag{20}$$

$$\left| E(n) - M \right| \le p_1 - 1 \tag{21}$$

Let X be the set as in theorem 1. Define

$$A_4 = \{ x \in X : M_4 \le x(n) \le N_4, n \ge n_0 \}.$$

Define a mapping $T_4: A_4 \to X$ as follows:

$$(T_4 x)(n) = \begin{cases} -\frac{1}{p(n+\tau)} - \frac{x(n+\tau)}{p(n+\tau)} \\ +\frac{n-1+\tau}{p(n+\tau)} \sum_{s=n+\tau}^{\infty} [q_1(s)x(s-\sigma_1) - q_2(s)x(s-\sigma_2)] \\ +\frac{1}{p(n+\tau)} \sum_{s=n_1}^{n+\tau-1} s[q_1(s)x(s-\sigma_1) - q_2(s)x(s-\sigma_2)] + \frac{E(n+\tau) - M}{p(n+\tau)}, n \ge n_1 \\ (T_4 x)(n_1), n_0 \le n \le n_1. \end{cases}$$

- 1

Clearly, $T_4 x$ is continuous. For every $x \in A_4$ and $n \ge n_1$ using (20) and (21), we obtain

$$\begin{split} (T_4 x)(n) &\leq -\left(\frac{1 + x(n + \tau)}{p(n + \tau)}\right) - \frac{1}{p(n + \tau)} \sum_{s=n_1}^{\infty} sq_2(s) x(s - \sigma_2) + \frac{E(n + \tau) - M}{p(n + \tau)} \\ &\leq \frac{1 + N_4}{p_1} + \frac{N_4}{p_1} \sum_{s=n_1}^{\infty} sq_2(s) + \frac{p_1 - 1}{p_1} \\ &\leq N_{4,} \quad n \geq n_1. \end{split}$$

Furthermore in view of (19) and (20) we have

$$(T_4 x)(n) \ge -\left(\frac{1+x(n+\tau)}{p(n+\tau)}\right) + \frac{1}{p(n+\tau)} \sum_{s=n_1}^{\infty} sq_1(s)x(s-\sigma_1) + \frac{E(n+\tau)-M}{p(n+\tau)}$$
$$\ge \frac{1+M_4}{p_2} - \frac{N_4}{p_1} \sum_{s=n_1}^{\infty} sq_1(s) - \frac{p_1-1}{p_1}$$
$$\ge M_4 \cdot n \ge n_1$$

Thus we proved that $T_4A_4 \subset A_4$. Since A_4 is a bounded, closed and convex subset of X, we have to prove that T_4 is a contraction mapping on A_4 to apply the contraction principle. Now, for $x_1, x_2 \in A_4$ and $n \ge n_1$, in view of (18), we have

$$\begin{aligned} \left| (T_4 x_1)(n) - (T_4 x_2)(n) \right| &\leq \frac{1}{p_1} || x_1 - x_2 || \left\{ 1 + \sum_{s=n_1}^{\infty} s[q_1(s) + q_2(s)] \right\} \\ &< \frac{3p_1 + 1}{4p_1} || x_1 - x_2 || \\ &= \lambda_4 || x_1 - x_2 ||. \end{aligned}$$

This implies that $||T_4x_1 - T_4x_2|| < \lambda_4 ||x_1 - x_2||$, we get $\lambda_4 < 1$.

This proves that T_4 is contraction mapping on A_4 . T_4 has the unique fixed point $x \in X$, which is obviously a positive solution of equation (1). This completes the proof.

Example 2.5. Consider the second order delay difference equation

$$\Delta^{2}(x(n) + e^{-n}x(n-1)) + 2e^{-n-2}x(n-1) - e^{-n}x(n-1) = e(n),$$
(22)

where $p(n) = e^{-n}$, $q_1(n) = 2e^{-n-2}$, $q_2(n) = e^{-n}$, $e(n) = e^{-n-2} - 2e^{-n-1} + e^{-n} + e^{-2n-3}$ such that

$$0 < p(n) \le e^{-n} < 1$$
. Since $E(n) \to 0$ as $n \to \infty$, $\sum_{s=n_1}^{\infty} sq_1(n) < \infty$ and $\sum_{s=n_1}^{\infty} sq_2(n) < \infty$. Then the

sufficient conditions of Theorem 2.1 are satisfied. Therefore, the equation (22) has a positive solution.



In Figure 1, the Nonoscillatory nature of equation (22) can be seen easily.

Example 2.6. Consider the second order delay difference equation.

$$\Delta^{2}(x(n) - (1 + e^{-n})x(n-1)) + e^{-n}x(n-1) - 2e^{-n-2}x(n-1) = e(n),$$
(23)

Where $p(n) = -1 - e^{-n}$, $q_1(n) = e^{-n}$, $q_2(n) = 2e^{-n-2}$, $e(n) = e^{-n-2} - 3e^{-n-1} + 3e^{-n} - e^{-n+1} + e^{-2n-3}$

such that $-\infty < p(n) \le -1$. Since $E(n) \to 0$ as $n \to \infty$, $\sum_{s=n_1}^{\infty} sq_1(n) < \infty$ and $\sum_{s=n_1}^{\infty} sq_2(n) < \infty$. Then the sufficient conditions of Theorem 2.4 are satisfied. Therefore, the equation (23) has a positive solution.



In Figure 2, the Nonoscillatory nature of equation (23) can be seen easily.

References

- [1] R.P. Agarwal, Difference Equations and Inequalities, 2-e, Marcel Dekker, New York, 2000.
- [2] R.P. Agarwal, M. Bohner, S.R. Grace, D. ORegan, Discrete Oscillation Theory, Hindawi Publishing Corporation, 2005.
- [3] M. R. S. Kulenovic and S. Hadziomerspahic, Existence of nonoscillatory solution of second order linear neutral delay equation, Journal of Mathematical Analysis and Applications, vol. 228, no. 2, pp.436 448, 1998.
- [4] Y.H. Yu, H.Z. Wang, Nonoscillatory solutions of second-order nonlinear neutral delay equations, J. Math. Anal. Appl. 311 (2005) 445 - 456.
- [5] Jin-Zhu Zhang, Zhen Jin, Tie-Xiong Su, Jian-Jun Wang, Zhi-Yu Zhang and Ju-Rang Yan, On the Nonoscillation of Second-Order Neutral Delay Differential Equation with Forcing Term, Hindawi Publishing Corporation, Discrete Dynamics in Nature and Society, Volume 2008, Article ID: 150163, 9 pages.
- [6] Maria Susai Manuel, M. Paul Loganathan, A.George Maria Selvam, Matlab Applications of the Oscillations of Forced Neutral Difference Equations with Positive and Negative Coefficients, International Journal of Pure and Applied Mathematics, Volume 54, No. 4, 2009, pp. 521-541.
- [7] S.Lourdu Marian, M. Paul Loganathan, A.George Maria Selvam, Oscillatory Behavior of Forced Neutral Difference Equations with Positive and Negative Coefficients, International Journal of Computational and Applied Mathematics. Volume 5 Number 3 (2010), pp. 253-265.
- [8] S.Lourdu Marian, M. Paul Loganathan, A.George Maria Selvam, Positive Solutions of Forced Neutral Difference Equations with Positive and Negative Coefficients, International Journal of Mathematics Research. Volume 3, Number 4 (2011), pp. 327-339.
- [9] S.Lourdu Marian, M. Paul Loganathan, A.George Maria Selvam, Existence of nonoscillatory solutions of second order nonlinear neutral delay difference equations with forcing term, International J. of Math. Sci. and Engg. Appls. Vol. 5 No. V (September, 2011), pp. 189-200.